
Page 1 of 8 RM470399 

 

 

ASSEMBLY / INSTALLATION INSTRUCTIONS 
Recommended Tools 

Hardware 

FULL SIZE CROSSBOW KIT 
021066KP

3/8 

FLAT WASHER 

3/8 

E-STOP NUT

3/8-16 x 3/4 

CARRIAGE BOLT 



Page 2 of 8 RM470399 

EXPLODED VIEW 

1 

1 

2 

2 

2 

2 

3 

3 

3 

3 



Page 3 of 8 RM470399 

COMPONENTS 

1 
CROSS BOW 

P/N – 025718 
2 

INNER CLAMP (FOOT) 

P/N – 022744 

3 
OUTTER CLAMP 

P/N –022743 



Page 4 of 8 RM470399 

ATTACHING INNER CLAMP TO FRONT CROSSBOW 

VEHICLE FRONT FEET O. D. 

Chevrolet 58-1/2”

Ford 64” 

FRONT CROSSBOW FOOT PLACEMENT 

GUIDE

OUTSIDE DIMENSION OF FEET (O.D.) 

TORQUE SETTING: 

Size - 3/8 = 22-30 Ft.-Lbs. 

ATTACHING INNER CLAMPS (FEET) 

Attach Inner clamps to each end as shown, using: 

(4) 3/8-16 x 3/4 Carriage Bolts,

(4) 3/8 Washers and (4) 3/8 E-Stop Nuts per clamp.

NOTE: THE DISTANCE BETWEEN THE FEET IS MAKE SPECIFIC.

USE THE CHART BELOW FOR FULL SIZE VAN DIMENSIONS. 

FRONT CROSSBOW 



Page 5 of 8 RM470399 

 

ATTACHING INNER CLAMP TO REAR CROSSBOW 

VEHICLE REAR FEET O. D. 

Chevrolet 57-1/2”

Ford 63” 

REAR CROSSBOW FOOT PLACEMENT 

GUIDE

OUTSIDE DIMENSION OF FEET (O.D.) 

TORQUE SETTING: 

Size - 3/8 = 22-30 Ft.-Lbs. 

ATTACHING INNER CLAMPS (FEET) 

Attach Inner clamps to each end as shown, using: 

(4) 3/8-16 x 3/4 Carriage Bolts,

(4) 3/8 Washers and (2) 3/8 E-Stop Nuts per clamp.

NOTE: THE DISTANCE BETWEEN THE FEET IS MAKE SPECIFIC.

USE THE CHART BELOW FOR FULL SIZE VAN DIMENSIONS. 

REAR CROSSBOW 



Page 6 of 8 RM470399 

Loosely attach (4) OUTER CLAMPS at locations shown here using 

(4) 3/8 Flat Washers and (4) 3/8 E-Stop Nuts.

TORQUE SETTING: 

Size - 3/8 = 22-30 Ft.-Lbs. 

ATTACHING OUTER CLAMPS 



Page 7 of 8 RM470399 

TYPICAL FOOT PLACEMENT OF LADDER RACKS ON VEHICLE 

With LADDER RACK positioned properly on vehicle, tighten OUTER CLAMPS to secure. 

19”

90-1/2”

MEASUREMENTS FROM REAR EDGE OF DRIPRAIL 

TO REAR EDGE OF FEET

REAR EDGE OF 

DRIPRAIL  
REAR EDGE OF 

FRONT FOOT  
REAR EDGE OF 

REAR FOOT  



3 Year / 36,000 Mile Limited Warranty 

(3) years or 36,000 miles (60,000 KM)


	Warranty Page.pdf
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7


